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CIRCLES

Example

1. The radius of a circle is 13 cm and the length

of one of its chord is 10 cm. Find the distance

of the chord from the centre.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ucYISE8MUa9Q


Watch Video Solution

2. Find the length of a chord which is at a

distance of 24 cm from the centre of a circle

whose diameter is 50 cm.

Watch Video Solution

3. Two circles of radii 5 cm and 3 cm intersect

at two points and the distance between their

https://dl.doubtnut.com/l/_ucYISE8MUa9Q
https://dl.doubtnut.com/l/_fBRlE8s6p7Bl
https://dl.doubtnut.com/l/_mmik44oO4Uh1


centres is 4 cm. Find the length of the

common chord.

Watch Video Solution

4. In the figure 

 OD is

perpendicular to the chord AB of a circle

https://dl.doubtnut.com/l/_mmik44oO4Uh1
https://dl.doubtnut.com/l/_eBWmKOsmspZe


whose centre is O. If BC is a diameter, show

that CA = 2OD

Watch Video Solution

5. Two cocentric circle common centre O. A line

'l' intersects these circle A,B,C and D. Prove that

AB = CD.

Watch Video Solution

https://dl.doubtnut.com/l/_eBWmKOsmspZe
https://dl.doubtnut.com/l/_iHoyzTWkl68U


6. Two circles with centres O and O' intersect

at P. Through P, a line 'l' parallel to a OO',

meeting circles at C and D, is drawn. Prove that

CD = 2OO'

Watch Video Solution

7. Two chords PQ and RS of a circle are parallel

to each other and AB is the perpendicular

bisector of PQ. Without using any

construction, prove that AB bisects RS.

https://dl.doubtnut.com/l/_Tw6leaot9Lyh
https://dl.doubtnut.com/l/_GMGdS8T6ZTIf


Watch Video Solution

8. Prove that the right-bisector of a chord of a

circle bisects the corresponding minor arc of

the circle.

Watch Video Solution

9. If a diameter of a cirlce bisects each of the

chords of the circle, prove that the chordds

are parallel.

Watch Video Solution

https://dl.doubtnut.com/l/_GMGdS8T6ZTIf
https://dl.doubtnut.com/l/_Mk8s8c9i6jbZ
https://dl.doubtnut.com/l/_GaqUPrHICZgv


10. If two intersecting chords of a circle make

equal angles with the diameter passing

through their point of intersection, prove that

the chords are equal. 

https://dl.doubtnut.com/l/_GaqUPrHICZgv
https://dl.doubtnut.com/l/_ewbTzpKQDA8E


Watch Video Solution

11. AB and CD are two chords of a circle such

that AB = 6 cm, CD = 12 cm and AB is parallel to

CD. The distance between AB and CD is 3 cm.

Find the radius of the circle.

Watch Video Solution

12. Prove that the line of centres of two

intersecting circles subtends equal angles at

the two points of intersection.

https://dl.doubtnut.com/l/_ewbTzpKQDA8E
https://dl.doubtnut.com/l/_2c98ogAEVO2l
https://dl.doubtnut.com/l/_xPXEQlFA2RHa


Watch Video Solution

13. In the given figure 

 O is the

centre of a circle and PO bisects . Prove

that AB = CD

Watch Video Solution

∠APD

https://dl.doubtnut.com/l/_xPXEQlFA2RHa
https://dl.doubtnut.com/l/_UkJ5qIjR8xTb


14. L and M are mid-points of two eqal chords

AB and CD of a circle with centre O Prove that 

Watch Video Solution

∠OLM = ∠OML

15. L and M are mid-points of two equal chords

AB and CD of a circle with centre O Prove that 

Watch Video Solution

∠ALM = ∠CML

https://dl.doubtnut.com/l/_ig4tVBa6yOM8
https://dl.doubtnut.com/l/_xH7hynBAsmSt
https://dl.doubtnut.com/l/_wDV3KBe7Rjs7


16. Two equal chords AB and CD of a circle with

centre O, intersect each other at E. Prove that

AD = CB

Watch Video Solution

17. Equal chords AB and CD of a circle with

centre O, cut at right angles at E. If L and M are

the mid-points of AB and CD respectively,

prove that OLEM is a square.

Watch Video Solution

https://dl.doubtnut.com/l/_wDV3KBe7Rjs7
https://dl.doubtnut.com/l/_Sy57nSfRik64


18. If two chords of a circle bisect one another

they must be diameters.

Watch Video Solution

19. OA and OB are respectively perpendicular

to chors CD and EF of a circle whose centre is

https://dl.doubtnut.com/l/_LwbC5pyM4jHs
https://dl.doubtnut.com/l/_csn9P0g5REsB


O. If OA = OB, prove that  


Watch Video Solution

CE ≅DF

20. If O is the centre of a circle, find the value

of x in each of the following figures 

https://dl.doubtnut.com/l/_csn9P0g5REsB
https://dl.doubtnut.com/l/_Tkadb39uL2YN


Watch Video Solution

21. O is the centre of the circle and the

measure of arc AOC is . Find 120∘

https://dl.doubtnut.com/l/_Tkadb39uL2YN
https://dl.doubtnut.com/l/_yC3MP7KfZmBU


 


Watch Video Solution

∠ADC and ∠ABC

22. O is the centre of the circle. The angle

subtended by the ar BCD at the centre is .150∘

https://dl.doubtnut.com/l/_yC3MP7KfZmBU
https://dl.doubtnut.com/l/_hvMuUmz2b6tP


BC is produced to E. Find 

Watch Video Solution

∠BAD and ∠BCD

23. AB is a diameter of the circle C(AO,R) and

the radius OD is perpendicular to AB. If C is

any point on the arc DB, find

https://dl.doubtnut.com/l/_hvMuUmz2b6tP
https://dl.doubtnut.com/l/_zvV96BOuvX9D


 


Watch Video Solution

∠BAD and ∠ACD

24. O is the centre of the circle. Prove that

 
∠x + ∠y = ∠z

https://dl.doubtnut.com/l/_zvV96BOuvX9D
https://dl.doubtnut.com/l/_M3xEv1OQEMMc


Watch Video Solution

25. AB = CD. Prove that BE = and AE = Ce, where

E is the point of intersection AD and BC. 

https://dl.doubtnut.com/l/_M3xEv1OQEMMc
https://dl.doubtnut.com/l/_xnjEBr1FGLaL


Watch Video Solution

26. ABC and ADC are two right triangles with

common hypotenuse AC. Prove that

/_CBD`.∠CAD =

https://dl.doubtnut.com/l/_xnjEBr1FGLaL
https://dl.doubtnut.com/l/_OR1cVntmnSve


Watch Video Solution

27. If O is the circumcentre of a

, prove that 

Watch Video Solution

△ ABC, OD ⊥ BC

∠BOD = ∠A

28. Prove that the angle in a segment smaller

than a semi-cricle is greater than a right angle.

https://dl.doubtnut.com/l/_OR1cVntmnSve
https://dl.doubtnut.com/l/_aFeho7krJzgg
https://dl.doubtnut.com/l/_JzgXvVBX3cwF


Watch Video Solution

29. AB is a diameter of a circle having centre O

and a circle is described having AO as

diameter. A chord AD of the bigger circle

intersects the smaller circle at C. Prove that BD

https://dl.doubtnut.com/l/_JzgXvVBX3cwF
https://dl.doubtnut.com/l/_16ixKVXKkHff


= 2OC. 

Watch Video Solution

30. Prove that the circle drawn on any one of

the equal sides of an isosceles triangle as

https://dl.doubtnut.com/l/_16ixKVXKkHff
https://dl.doubtnut.com/l/_Pg8S6LBx6TU8


diameter bisects the base. 

Watch Video Solution

https://dl.doubtnut.com/l/_Pg8S6LBx6TU8


31. In the figure 

 AB and

CD are two chords of a circle, intersecting each

other at P such that AP = CP show thawt AB =

CD.

Watch Video Solution

https://dl.doubtnut.com/l/_zTvkQYfSWu7X


32. Prove that in a right angled triangle the

mid-point of the hypotenuse is equidistant

from its vertices.

Watch Video Solution

33. Two circles intersect at A and and AC,AD

are respectively the diameter of the circle .

https://dl.doubtnut.com/l/_elTtsH39nNsj
https://dl.doubtnut.com/l/_jtPDVokxyGtN


Prove that the points C,B and D are collinear. 

Watch Video Solution

34. ABCD is a cyclic quadrilateral in which AC

and BD are its diagonals.If

 find ∠DBC = 70∘ and ∠BAC = 30∘

∠BCD

https://dl.doubtnut.com/l/_jtPDVokxyGtN
https://dl.doubtnut.com/l/_bChGzcwge9jQ


Watch Video Solution

35. ABCD is a cyclic quadrialteral O is the

centre of the circle. If , find 

Watch Video Solution

∠BOD = 160∘

∠BPD

36. O is the4 centre of the circle. If

. Find  
∠AOC = 140∘ ∠ABC

https://dl.doubtnut.com/l/_bChGzcwge9jQ
https://dl.doubtnut.com/l/_ZmrvzUWavayE
https://dl.doubtnut.com/l/_hZgdF0sTvOG2


Watch Video Solution

37. If O is the centre of the circle,

 and side AB is produced to D,

find 

Watch Video Solution

∠AOC = 110∘

∠CBD

https://dl.doubtnut.com/l/_hZgdF0sTvOG2
https://dl.doubtnut.com/l/_x2Uyeb1Ig7tq
https://dl.doubtnut.com/l/_GJ892bR2ko7A


38. C and D are the points on the semi-circle

described on BA as diameter. Given

. Find 

 


Watch Video Solution

∠BAD = 70∘ and ∠DBC = 30∘

∠ABD and ∠BDC

https://dl.doubtnut.com/l/_GJ892bR2ko7A


39. A,B,C and D,E,f are two of collinear points.

Prove that AD||CF

Watch Video Solution

40. ABC is an isosceles triangle in which AB =

AC. If D and E are the mid-points of AB and

respectively, prove that B,C,D and E are

concyclic.

Watch Video Solution

https://dl.doubtnut.com/l/_857e5n2eRpY4
https://dl.doubtnut.com/l/_eBqxaKx4PJMv
https://dl.doubtnut.com/l/_rtIjNNFChz0m


41. AOB is a diameter of the circle withi centre

O. Find the numerical value of

Watch Video Solution

∠ACD + ∠DEB

42. ABCD is a cyclic quadrilateral. A circle

passing through A and B meets AD and BC in E

and F respectively. Prove that EF||DC

Watch Video Solution

https://dl.doubtnut.com/l/_rtIjNNFChz0m
https://dl.doubtnut.com/l/_gTNfQ2JpXmHH
https://dl.doubtnut.com/l/_agq3sGeEK8VJ


43. AB and CD are two parallel chords of a

circle and lines CA and DB intersect each other

at O. Show that OA = OB. 

https://dl.doubtnut.com/l/_agq3sGeEK8VJ


Watch Video Solution

44. POQ is a diameter and PQRS is a cyclic

quadrilateral. If , find  


Watch Video Solution

∠PSR = 150∘ ∠RPQ

https://dl.doubtnut.com/l/_agq3sGeEK8VJ
https://dl.doubtnut.com/l/_5G3KJazwbELh
https://dl.doubtnut.com/l/_ykL8Q1IPuw1m


45. O is the centre of the circle and arc ABC

subtends an angle of  at the centre. If AB

is extended to P, find  


Watch Video Solution

130∘

∠PBC

https://dl.doubtnut.com/l/_ykL8Q1IPuw1m


46. BD = DC and , find  


Watch Video Solution

∠CBD = 30∘ m∠BAC

https://dl.doubtnut.com/l/_uxkRw63V6usX


47.  is an equilateral triangle  


Watch Video Solution

△ ABC ∠BEC

https://dl.doubtnut.com/l/_bbb9nR9BnAXv


48. Sides AD and AB of cyclic quadrilateral

ABCD are produced to E and F respectively. If

 and , find the

value of x. 

Watch Video Solution

∠CBF = 130∘ ∠CDE = x ∘

https://dl.doubtnut.com/l/_rte1qJ58xjBN


49. AB and CD are diameters of a circle with

centre O. If , find  


Watch Video Solution

∠OBD = 50∘ ∠AOC

50. O is the4 centre of the circle. If

. Find  
∠AOC = 140∘ ∠ABC

https://dl.doubtnut.com/l/_fhzNsGS6zwIY
https://dl.doubtnut.com/l/_r6WvN34A1BCm


Watch Video Solution

51. O is the centre of a circle. If

 and , calculate

the 

Watch Video Solution

∠AOD = 140∘ ∠CAB = 50∘

∠EBD

https://dl.doubtnut.com/l/_r6WvN34A1BCm
https://dl.doubtnut.com/l/_NmFalkMHmxop
https://dl.doubtnut.com/l/_ecFbjtSLasvG


52. Prove that the circle drawn with any side of

a rhombus as diameter, passes through the

point of intersection of its diagonals.

Watch Video Solution

53. Chords AB and Cd of a circle are produced

to meet at E. Prove that

 are similar.

Watch Video Solution

△ EDB and △ EAC

https://dl.doubtnut.com/l/_ecFbjtSLasvG
https://dl.doubtnut.com/l/_ZBbpu780NZ2U
https://dl.doubtnut.com/l/_iCVHAakqf5zz


54. Prove that the centre of the circle

circumscribing the cyclic rectangle ABCD is the

point of intersection of its diaognsls.

Watch Video Solution

55. Prove that the circle drawn with any side of

a rhombus as diameter, passes through the

point of intersection of its diagonals.

Watch Video Solution

https://dl.doubtnut.com/l/_iCVHAakqf5zz
https://dl.doubtnut.com/l/_ljlrmXgWQzaK


56. ABCD is a cyclic quadrilateral in which BA

and CD when produced meet in E and EA = Ed.

Prove that AD ||BC

Watch Video Solution

57. ABCD is a cyclic quadrilateral in which BA

and CD when produced meet in E and EA = Ed.

Prove that EB = EC

Watch Video Solution

https://dl.doubtnut.com/l/_UnVWU4hkV0TS
https://dl.doubtnut.com/l/_4WKAIDWzwIAU
https://dl.doubtnut.com/l/_9vJUDifpz43l


58. P and Q are centres of two circles,

intersecting at B and C, and ACD is a striaght

line. 

 If 

 and , find the

value of x.

Watch Video Solution

∠APB = 150∘ ∠BQD = x ∘

https://dl.doubtnut.com/l/_9vJUDifpz43l
https://dl.doubtnut.com/l/_0J4bWe1DWPgo


59. Prove that any four vertices of a regular

pantagon are concyclic.

Watch Video Solution

60. If two equal chords of a circle intersect

within the circle, prove that the segments of

one chord are equal to corresponding

segments of the other chord.

Watch Video Solution

https://dl.doubtnut.com/l/_0J4bWe1DWPgo
https://dl.doubtnut.com/l/_fgavwFyPrewT


61. If two equal chords of a circle intersect

within the circle, prove that the line joining

the point of intersection to the centre makes

equal angles with the chord.

Watch Video Solution

62. The bisector of  of an isosceles triangle

 with AB = AC meets the circumcircle

of  at P as shown in the figure. If AP

and BC produced meet at Q, prove that CQ =

∠B

△ ABC

△ ABC

https://dl.doubtnut.com/l/_ABGMgZ6xOLJD
https://dl.doubtnut.com/l/_eHFJtyaHVe25


CA. 

Watch Video Solution

63. ABC is a triangle in which .

Prove that BC is the radius of the circumcircle

∠BAc = 30∘

https://dl.doubtnut.com/l/_eHFJtyaHVe25
https://dl.doubtnut.com/l/_0eUECsbW8kSd


of , whose centre O. 


Watch Video Solution

△ ABC

64. Three STd booths situated at P,Q and R is

the fiure are operated by handicaped ersons.

These three booths are equidistant from each

other 

https://dl.doubtnut.com/l/_0eUECsbW8kSd
https://dl.doubtnut.com/l/_d6teRKvoS5gT


 Find 

Watch Video Solution

∠QPR

65. Recall that two circles are congruent if they

have the same radii. Prove that equal chords

of congruent circles subtend equal angles at

their centres.

https://dl.doubtnut.com/l/_d6teRKvoS5gT
https://dl.doubtnut.com/l/_Zs022nYmVmxD


Watch Video Solution

66. Prove that if chords of congruent

circlessubtend equal angles at their centres,

then the chords are equal.

Watch Video Solution

67. Draw different pairs of circles. How many

points does each pair have in common ? What

is the maximum number of common points ?

https://dl.doubtnut.com/l/_Zs022nYmVmxD
https://dl.doubtnut.com/l/_PuLSelz2D2Ed
https://dl.doubtnut.com/l/_vTS3IpRQVDXd


Watch Video Solution

68. Suppose you are given a circle. Give a

construction to find its centre.

Watch Video Solution

69. If two circles intersect at two points, prove

that their centres lie on the perpendicular

bisector of the common chord.

Watch Video Solution

https://dl.doubtnut.com/l/_vTS3IpRQVDXd
https://dl.doubtnut.com/l/_UtCbzBGLkm9F
https://dl.doubtnut.com/l/_bWnVSGV2xEYJ


70. Two circles of radii 5 cm and 3 cm intersect

at two points and the distance between their

centres is 4 cm. Find the length of the

common chord.

Watch Video Solution

71. If two equal chords of a circle intersect

within the circle, prove that the segments of

one chord are equal to corresponding

segments of the other chord.

https://dl.doubtnut.com/l/_yETMOkIQ2cpf
https://dl.doubtnut.com/l/_GYDcs7yOZL0d


Watch Video Solution

72. If two equal chords of a circle intersect

within the circle, prove that the line joining

the point of intersection to the centre makes

equal angles with the chord.

Watch Video Solution

73. If a line intersects two concentric circles

(circles with the same centre) with centre O at

https://dl.doubtnut.com/l/_GYDcs7yOZL0d
https://dl.doubtnut.com/l/_n40PsnYyn4LJ
https://dl.doubtnut.com/l/_w6NK2eUB4vfu


A,B,C and D, prove that AB = CD 

Watch Video Solution

74. A circular park of radius 20 m is situated in

a colony. Three boys Ankur, Syed and David are

sitting at equal distance on its boundary each

having a toy telephone in his hands to talk

https://dl.doubtnut.com/l/_w6NK2eUB4vfu
https://dl.doubtnut.com/l/_1tmXC928I8vU


each other. Find the length of the string of

each phone.

Watch Video Solution

75. A,B and C are three points on a circle with

centre AO such that

. If D is a point

on the circle other than the are ABC, find

∠BOC = 30∘ , ∠AOB = 60∘

https://dl.doubtnut.com/l/_1tmXC928I8vU
https://dl.doubtnut.com/l/_fgxmWBo2dce6


 


Watch Video Solution

∠ADC

76. A chord of a circle is equal to the radius of

the circle. Find the angle subtended by the

chord on a point on the minor arc and also at

a point on the major arc.

https://dl.doubtnut.com/l/_fgxmWBo2dce6
https://dl.doubtnut.com/l/_sWiMN8hFPvOb


Watch Video Solution

77. In the given figure, , where

P, Q and R are points on a circle with centre O.

Find .

Watch Video Solution

∠PQR = 100∘

∠OPR

78. In Fig. 10.38, , ,

find .
 


∠ABC = 69∘ ∠ACB = 31∘

∠BDC

https://dl.doubtnut.com/l/_sWiMN8hFPvOb
https://dl.doubtnut.com/l/_EhEt0eVmwcCo
https://dl.doubtnut.com/l/_O7aicIGWEh6s


Watch Video Solution

79. ABCD is a cyclic quadrilateral whose

diagonals intersect at a point E.

https://dl.doubtnut.com/l/_O7aicIGWEh6s
https://dl.doubtnut.com/l/_EvJEYqN41lTD


, , find .

Futher, if AB = BC, find .

Watch Video Solution

∠DBC = 70∘ ∠BACis30∘ ∠BCD

∠ECD

80. If diagonals of a cyclic quadrilateral are

diameters of the circle through the vertices of

the quadrilateral, prove that it is a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_EvJEYqN41lTD
https://dl.doubtnut.com/l/_ItlkYvsWGI1q


81. If the non-parallel sides of a trapezium are

equal, prove that it is cyclic.

Watch Video Solution

82. If circles are drawn taking two sides of a

triangle as diameters, prove that the point of

intersection of these circles lie on the third

side.

Watch Video Solution

https://dl.doubtnut.com/l/_agYgEiyXiNrT
https://dl.doubtnut.com/l/_Iyps0ZlNWB9I
https://dl.doubtnut.com/l/_mfqT96Mhv9iY


83. ABC and ADC are two right triangles with

common hypotenuse AC. Prove that

/_CBD`.

Watch Video Solution

∠CAD =

84. Prove that a cyclic parallelogram is a

rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_mfqT96Mhv9iY
https://dl.doubtnut.com/l/_GB1kpr1AKlcE


85. Prove that the line of centres of two

intersecting circles subtends equal angles at

the two points of intersection.

Watch Video Solution

86. Two chords AB and CD of lengths 5 cm and

11 cm respectively of a circle are parallel to

each other and are on opposite sides of its

centre. If the distance between AB and CD is 6

cm, find the radius of the circle.

https://dl.doubtnut.com/l/_i4zmLSb010Ep
https://dl.doubtnut.com/l/_uzrMNGH6WCsJ


Watch Video Solution

87. The lengths of two parallel chords of a

circle are 6 cm and 8 cm. If the smaller chord is

at a distance of 4 cm from the centre, what is

the distance of the other chord from the

centre ?

Watch Video Solution

88. Let vertex of an angle ABC be located

outside a circle and let the sides of the angle

https://dl.doubtnut.com/l/_uzrMNGH6WCsJ
https://dl.doubtnut.com/l/_ZQ3uWuhv9njE
https://dl.doubtnut.com/l/_OUaAo5K8raZT


intersect chords AD and CE with the circle.

Prove that  is equal to half the

difference of the angles subtended by the

chords AC and DE at the centre.

Watch Video Solution

∠ABC

89. Prove that the circle drawn with any side of

a rhombus as diameter, passes through the

point of intersection of its diagonals.

Watch Video Solution

https://dl.doubtnut.com/l/_OUaAo5K8raZT
https://dl.doubtnut.com/l/_xV9seMFi6BGA
https://dl.doubtnut.com/l/_s3GcHm8oEUbP


90. ABCD is a parallelogram. The circle through

A, B and C intersect CD (produced if necessary)

at E. Prove that AE = AD.

Watch Video Solution

91. AC and BD are chords of a circle which

bisect each other. Prove that (i) AC and BD are

diameters, (ii) ABCD is a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_s3GcHm8oEUbP
https://dl.doubtnut.com/l/_urmZtBEu0z7t
https://dl.doubtnut.com/l/_2SH6rl0tnHuY


92. AC and BD are chords of a circle which

bisect each other. Prove that (i) AC and BD are

diameters, (ii) ABCD is a rectangle.

Watch Video Solution

93. Bisectors of angles A, B and C of a triangle

ABC intersect its circumcircle at D, E and F

respectively. Prove that angles of the triangle

are  and 

respectively.

Watch Video Solution

90∘ − , 90∘ −
A

2

B

2
90∘ −

C

2

https://dl.doubtnut.com/l/_2SH6rl0tnHuY
https://dl.doubtnut.com/l/_yxb8ObQDtm0U


94. Two congruent circles intersect each other

at points A and B. Through A any line segment

PAQ is drawn so that P, Q lie on the two circles.

Prove that BP = BQ.

Watch Video Solution

95. In any triangle ABC, if the angle bisector of

 and perpendicular bisector of BC∠A

https://dl.doubtnut.com/l/_yxb8ObQDtm0U
https://dl.doubtnut.com/l/_vhyCog3o5OTk
https://dl.doubtnut.com/l/_8TuNCz7BLxy0


intersect, prove that they intersect on the

circumcircle of the triangle ABC.

Watch Video Solution

96. (True/ False) Two chords AB and CD of a

circle are each at distances 4 cm from the

centre. Then AB = CD.

Watch Video Solution

https://dl.doubtnut.com/l/_8TuNCz7BLxy0
https://dl.doubtnut.com/l/_skllMoPiuoEf


97. Two chords AB and AC of a circle with

centre O are on the opposite sides of OA. Then

Watch Video Solution

∠OAB = ∠OAC

98. (True/ False) Two congruent circles with

centres O and O' intersect at two points A and

B. Then .

Watch Video Solution

∠AOB = ∠AO' B

https://dl.doubtnut.com/l/_FdqmmKlvxpTZ
https://dl.doubtnut.com/l/_bdZWvzz89sSP
https://dl.doubtnut.com/l/_BNMdDiiwNbfM


99. Through three collinear points a circle can

be drawn.

Watch Video Solution

100. (True/ False) A circle of radius 3 cm can be

drawn through two points A, B such that AB =

6 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_BNMdDiiwNbfM
https://dl.doubtnut.com/l/_dpS9GDhxa2P6


101. (True/ False) If AOB is a diameter of a circle

and C is a point on the circle, then

.

Watch Video Solution

AC 2 + BC 2 − AB2

102. (True/ False) ABCD is a cyclic quadrilateral

such that , , 

and .

Watch Video Solution

∠A = 90∘ ∠B = 702 ∠C = 95∘

∠D = 1052

https://dl.doubtnut.com/l/_fyeRX9HM1Q8R
https://dl.doubtnut.com/l/_QPgzEs4JMGJG
https://dl.doubtnut.com/l/_ax64nKwfTZHa


103. (True/ False) If A, B, C, D are four points

such that  and ,

then D is the centre of the circle through A, B

and C.

Watch Video Solution

∠BAC = 30∘ ∠BDC = 60∘

104. (True/ False) If A, B, C and D are four

points such that  and 

, then A, B, C, D are concyclic.

Watch Video Solution

∠BAC = 45∘

∠BDC = 45∘

https://dl.doubtnut.com/l/_ax64nKwfTZHa
https://dl.doubtnut.com/l/_a84g7S7lzXKA


105. (True/ False) In Fig. 

 


If AOB, is a diameter and , then

.

Watch Video Solution

∠ADC = 120∘

∠CAB = 30∘

https://dl.doubtnut.com/l/_zGL5fan9n6qe
https://dl.doubtnut.com/l/_av0fl2ZYqLr5


106. If arcs AXB and CYD of a circle are

congruent, find the ratio of AB and CD.

Watch Video Solution

107. If the perpendicular bisector of a chord AB

of a circle PXAQBY intersects the crlce at P and

Q, prove tawt arc PXA arc PYB.

Watch Video Solution

≅

https://dl.doubtnut.com/l/_av0fl2ZYqLr5
https://dl.doubtnut.com/l/_Rq14uxrNWBeM


108. Two triangles ABC and PQR are such that

the perpendiculars from A to QR ,B to RP and C

to PQ are concurrent .Show that the

perpendicular from P to BC ,Q to CA and R to

AB are also concurrent .

Watch Video Solution

109. If two equal chords intersect each other,

then the bisector of the angle between them

pass through the centre.

https://dl.doubtnut.com/l/_fO2ACYwjJiUr
https://dl.doubtnut.com/l/_y6g1mx55EbgH


Watch Video Solution

110. If a diameter of a cirlce bisects each of the

chords of the circle, prove that the chordds

are parallel.

Watch Video Solution

111. ABCD is such a quadrilateral A is the centre

of the circle passing through B,C and D. Prove

that : 

Watch Video Solution

∠CBD + ∠CDB = ∠BAD
1

2

https://dl.doubtnut.com/l/_y6g1mx55EbgH
https://dl.doubtnut.com/l/_rhzDOGvRm2YS
https://dl.doubtnut.com/l/_RXR1ERcR0GhE


112. O is the circumcentre of the triangle ABC

and D is the mid-point of the base BC. Prove

that 

Watch Video Solution

∠BOD = ∠A

113. On a common hypotenuse AB, two right

triangles ACB and ADB are situated on

opposite 

Watch Video Solution

∠BAC = ∠BDC

https://dl.doubtnut.com/l/_RXR1ERcR0GhE
https://dl.doubtnut.com/l/_bkR5obocufhD
https://dl.doubtnut.com/l/_9qp7i35LeIWh


114. Two chords AB and AC of a circle subtend

angles equal to  and , respectively at

the centre. Find , if AB and AC lie on the

opposite sides of the centre.

Watch Video Solution

90∘ 150∘

∠BAC

115. If D, E and F are three points on the sides

BC, CA and AB, respectively, of a triangle ABC

such that the lines AD, BE and CF are

https://dl.doubtnut.com/l/_9qp7i35LeIWh
https://dl.doubtnut.com/l/_8g198NPVGTHq
https://dl.doubtnut.com/l/_3RUoTB1Bgwho


concurrent, then show that 

Watch Video Solution

            ⋅ ⋅ = 1
BD

CD

CE

AE

AF

BF

116. If a pair of opposite sides of a cyclic

quadrialteral are equal, prove that its

diagonals are also equal.

Watch Video Solution

https://dl.doubtnut.com/l/_3RUoTB1Bgwho
https://dl.doubtnut.com/l/_eqCpp1dGLEnT


117. If O is the circumcentre of a

, prove that 

Watch Video Solution

△ ABC, OD ⊥ BC

∠BOD = ∠A

118. A chord of a circle is equal to the radius.

Find the angle subtended by this chord at a

point in major segment.

Watch Video Solution

https://dl.doubtnut.com/l/_AypDaLiCS34k
https://dl.doubtnut.com/l/_duu2Gl9s2Alw
https://dl.doubtnut.com/l/_ckiIWYUUmGuD


119. ABCd is a cyclic quadrialteral such that AB

is a diameter of the circle circumscribing it

and  is equal to

Watch Video Solution

∠ADC = 140∘ , then∠BAC

120. Two circles with centres O and O' intersect

at P. Through P, a line 'l' parallel to a OO',

meeting circles at C and D, is drawn. Prove that

CD = 2OO'

Watch Video Solution

https://dl.doubtnut.com/l/_ckiIWYUUmGuD
https://dl.doubtnut.com/l/_0wrry1j3xRGp


121. AOB is a diameter of the circle withi centre

O. Find the numerical value of

Watch Video Solution

∠ACD + ∠BED

122. If two equal chords of a circle intersect

within the circle, prove that the segments of

one chord are equal to corresponding

segments of the other chord.

Watch Video Solution

https://dl.doubtnut.com/l/_xw3WXlCtfWps
https://dl.doubtnut.com/l/_dUXwkPYkbAkQ


123. If the non-parallel sides of a trapezium are

equal, prove that it is cyclic.

Watch Video Solution

124. If P,Q and R are the mid-point of the side

BC,CA and AB of a triangle and AD is the

perpendicular form A and BC, prove that P,Q

and D are concylic.

Watch Video Solution

https://dl.doubtnut.com/l/_dUXwkPYkbAkQ
https://dl.doubtnut.com/l/_nrROSdoOVQUK
https://dl.doubtnut.com/l/_d6YXf4RhdcSb


125. ABCD is a parallelogram. The circle

through A,B is so drawn that it intersects AD

at P and CB at Q. Prove that P,Q,C and D are

concyclic.

Watch Video Solution

126. The angle bisector of any angle of a

triangle and perpendicular bisector of the

opposite side if intersect, they will intersect on

the circumcircle of the triangle.

https://dl.doubtnut.com/l/_zLuwhRnSPnRc
https://dl.doubtnut.com/l/_TLosRwyxA61O


Watch Video Solution

127. If the chords AB and CD of a circle

AYDZBWCX intersect at right angle prove that

arc CXA + ar DZB = arc AYD+ arc BWC =

Semicircle.

Watch Video Solution

128. If ABC is an equilateral triangle inscribed

in a circle and P be any point on the minor arc

https://dl.doubtnut.com/l/_TLosRwyxA61O
https://dl.doubtnut.com/l/_n1ROBPm0J95z
https://dl.doubtnut.com/l/_s19fXPnbzuAQ


BC which does not coincide with B or C, prove

that PA is angle bisector of 

Watch Video Solution

∠BPC.

129. If bisectors of opposiste angles of a cyclic

quadrilateral ABCD intersect the circle,

circumscribing it at the points P and Q, prove

that PQ is a diameter of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_s19fXPnbzuAQ
https://dl.doubtnut.com/l/_fn9NpEjd3q2U


130. A circle has radius . It is divided into

two segments by a chord of length 2 cm. prove

that angle subtended by chord at a point in

major segment is 

Watch Video Solution

√2cm

45∘

131. Two equal chords AB and CD of a cirlce

when produced intersect at a point P. Prove

that PB = PD.

Watch Video Solution

https://dl.doubtnut.com/l/_NDd8o4ODh08u
https://dl.doubtnut.com/l/_gnvvtWO9Ja5u


Exercise

132. AB and AC are two chords of a circle of

radius r such that AB = 2AC. If p and q are the

distances of AB and AC from the centre, prove

that 

Watch Video Solution

4q2 = p2 + 3r2

1. The radius of a circle is 8 cm and the length

of its chords is 12 cm. Fid the distance of the

https://dl.doubtnut.com/l/_gnvvtWO9Ja5u
https://dl.doubtnut.com/l/_drXmpMfaEZmJ
https://dl.doubtnut.com/l/_Dno1Wh6ILXGx


from the centre.

Watch Video Solution

2. Find the length of a chord which is at a

distance of 24 cm from the centre of a circle

whose diameter is 50 cm.

Watch Video Solution

3. A chord of length 16 cm is drawn in a circle

of radius 10 cm. Find the distance of the chord

https://dl.doubtnut.com/l/_Dno1Wh6ILXGx
https://dl.doubtnut.com/l/_GkZEUdnGzBZp
https://dl.doubtnut.com/l/_Vr6n4Ez5HSWb


from the of the circle.

Watch Video Solution

4. Find the length of a chord which is at a

distance of 24 cm from the centre of a circle

whose diameter is 50 cm.

Watch Video Solution

5. PQ and RS are two parallel chords of a circle

whose centre is O and radius is 10 cm. If PQ =

https://dl.doubtnut.com/l/_Vr6n4Ez5HSWb
https://dl.doubtnut.com/l/_iTHOg2mEth9f
https://dl.doubtnut.com/l/_VRkR0E07OGsf


16 cm and RS = 12 cm, find the distance

between PQ and RS, if they lie on the same

side of the centre O.

Watch Video Solution

6. PQ and RS are two parallel chords of a circle

whose centre is O and radius is 10 cm. If PQ =

16 cm and RS = 12 cm, find the distance

between PQ and RS, if they lie on the opposite

side of the centre O.

Watch Video Solution

https://dl.doubtnut.com/l/_VRkR0E07OGsf
https://dl.doubtnut.com/l/_c0P9bvWPonz5


7. AB and CD are two chords of a circle such

that AB = 6 cm, CD = 12 cm and AB is parallel to

CD. The distance between AB and CD is 3 cm.

Find the radius of the circle.

Watch Video Solution

8. Two parallel chords of lengths 30 cm and 16

cm are drawn on the opposite sides of the

centre of a circle of radius 17 cm. find the

distance between the chords.

https://dl.doubtnut.com/l/_c0P9bvWPonz5
https://dl.doubtnut.com/l/_8ktowO21VSIB
https://dl.doubtnut.com/l/_9S1fLZvWr1qH


Watch Video Solution

9. In an equilateral triangle, prove that

centroid and circumcentre coincide.

Watch Video Solution

10. Two chords PQ and RS of a circle are

parallel to each other and AB is the

perpendicular bisector of PQ. Without using

any construction, prove that AB bisects RS.

https://dl.doubtnut.com/l/_9S1fLZvWr1qH
https://dl.doubtnut.com/l/_54EYzuqKuQFc
https://dl.doubtnut.com/l/_SAuVkf5UF59p


Watch Video Solution

11. In fig., two circles with centres O, O' touch

externally at a point A. A line through A is

drawn to intersect these circles in B and C.

Prove that the tangents at B and C are parallel.

Watch Video Solution

https://dl.doubtnut.com/l/_SAuVkf5UF59p
https://dl.doubtnut.com/l/_BrpqMDcvw5yh
https://dl.doubtnut.com/l/_bBZsj5mF1hjN


12. Prove that the right-bisector of a chord of a

circle bisects the corresponding minor arc of

the circle.

Watch Video Solution

13. Two chords AB and AC of a circle are equal.

Prove that the centre of the circle lies on the

angle bisector of .

Watch Video Solution

∠BAC

https://dl.doubtnut.com/l/_bBZsj5mF1hjN
https://dl.doubtnut.com/l/_VZxH1AfB7lmi
https://dl.doubtnut.com/l/_88s5UZyLW3Wp


14. Two equal chords AB and CD of a circle

C(O,r) when produced meet at a point E. Prove

that: 

BE = DE

Watch Video Solution

15. Two equal chords AB and CD of a circle

C(O,r) when produced meet at a point E. Prove

that: 

AE = CE

Watch Video Solution

https://dl.doubtnut.com/l/_88s5UZyLW3Wp
https://dl.doubtnut.com/l/_Fm4vkkz197hF


16. If a diameter of a cirlce bisects each of the

chords of the circle, prove that the chordds

are parallel.

Watch Video Solution

17. Prove that the perpendicular at the point of

contact to the tangent to a circle passes

through the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_Fm4vkkz197hF
https://dl.doubtnut.com/l/_IjALZiCZASnZ
https://dl.doubtnut.com/l/_Dois0OBc2Pwa


18. Diameter is the largest chord of the circle.

(True/False)

Watch Video Solution

19. PQ and RQ are chords of a circle

equidistant from the centre. Prove that the

diameter passing through Q bisects 

Watch Video Solution

∠PQR

https://dl.doubtnut.com/l/_Dois0OBc2Pwa
https://dl.doubtnut.com/l/_zzIMPsTzn6bV
https://dl.doubtnut.com/l/_QoJClzwzZ9TX
https://dl.doubtnut.com/l/_haU093dPTx46


20. In given Fig. 

, AD = AE and D and E are points on BC, such

that BD = EC. Prove that AB = AC.

Watch Video Solution

21. Prove that of all chords of a circle through

a given point within it, the least is one. Which

is bisected at that point.

Watch Video Solution

https://dl.doubtnut.com/l/_haU093dPTx46
https://dl.doubtnut.com/l/_58uGbGy8O2dG


22. Bisector AD of  passes

through the centre O of the circumcircle of

 as shown in the figure Prove that AB

= AC 

Watch Video Solution

∠BACof △ ABC

△ ABC

https://dl.doubtnut.com/l/_mL9m999rlZdm
https://dl.doubtnut.com/l/_RNLv5P99MItc


23. If two equal chords of a circle intersect

within the circle, prove that the segments of

one chord are equal to corresponding

segments of the other chord.

Watch Video Solution

24. If two equal chords of a circle intersect

within the circle, prove that the line joining

the point of intersection to the centre makes

equal angles with the chord.

Watch Video Solution

https://dl.doubtnut.com/l/_RNLv5P99MItc
https://dl.doubtnut.com/l/_n4xqRZdUOTYn


25. If O is the centre of the circle, find the value

of x in each of the following 

Watch Video Solution

https://dl.doubtnut.com/l/_n4xqRZdUOTYn
https://dl.doubtnut.com/l/_pf1fbxN6P99X


26. O is the centre of the circle and

. Calculate the values of 

Watch Video Solution

∠AOB = 70∘ ∠OCA

https://dl.doubtnut.com/l/_pf1fbxN6P99X
https://dl.doubtnut.com/l/_YSae98MT9wbe


27. O is the centre of the circle and

. Calculate the values of 

Watch Video Solution

∠AOB = 70∘ ∠OAC

28. O is the centre of the circle. If

 and . Find ∠ABD = 35∘ ∠BAC = 70∘

https://dl.doubtnut.com/l/_qzD9TZRWcMpd
https://dl.doubtnut.com/l/_CHeSX0xsCdNl


 


Watch Video Solution

∠ACB

https://dl.doubtnut.com/l/_CHeSX0xsCdNl


29. 

 

, calculate

the 

Watch Video Solution

∠ABD = 54∘ and ∠BCD = 43∘

∠ACD

https://dl.doubtnut.com/l/_V4mKbNKYj5lR


30. 

 

, calculate

the 

Watch Video Solution

∠ABD = 54∘ and ∠BCD = 43∘

∠BAD

https://dl.doubtnut.com/l/_kw526SLTLtVU


31. 

 

, calculate

the 

Watch Video Solution

∠ABD = 54∘ and ∠BCD = 43∘

∠BDA

https://dl.doubtnut.com/l/_76HbK4RTBhe7


32. DE is a chord parallel to diameter AC of the

circle with centre O. If ,

calculate the  


Watch Video Solution

∠CBD = 60∘

∠CDE

https://dl.doubtnut.com/l/_WPEn44dheHlS


33. C is a point on the minor arc of the circle,

with centre O. If  and express y in

terms of x. Calculate x, if  is a

parallelogram.

Watch Video Solution

∠ACB = x ∘

ACBO

34. If O is the circumcentre of a

, prove that 

Watch Video Solution

△ ABC, OD ⊥ BC

∠BOD = ∠A

https://dl.doubtnut.com/l/_V4u1xgyBupRr
https://dl.doubtnut.com/l/_Sri6skIgyNMJ


35. Two diameters of a circle intersect each

other at right angles. Prove that the

quadrilateral formed by joining their end

points is a square.

Watch Video Solution

36. AB is a diameter of the circle C(AO,R) and

the radius OD is perpendicular to AB. If C is

any point on the arc DB, find

https://dl.doubtnut.com/l/_Sri6skIgyNMJ
https://dl.doubtnut.com/l/_FSj4lPj49GDq
https://dl.doubtnut.com/l/_Pm0q9HXYRz9V


 


Watch Video Solution

∠BAD and ∠ACD

37. Prove that the circle drawn on any one of

the equal sides of an isosceles triangle as

diameter bisects the third side of the triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_Pm0q9HXYRz9V
https://dl.doubtnut.com/l/_mdX9vzWISTmO


38. AC is the diamter of a circle with centre AO

and chord , intersecting each other

at E. Find the values p,q,r in terms of x.

Watch Video Solution

BD ⊥ AC

39. Fill in the Blanks: 

The centre of a cirlce lies in _____ of the cirlce.

(exterior/interior)

Watch Video Solution

https://dl.doubtnut.com/l/_mdX9vzWISTmO
https://dl.doubtnut.com/l/_L6BoC1ykrjor
https://dl.doubtnut.com/l/_CyLG51jMMmJQ


40. A point, whose distance from the centre of

a circle is greater than its radius lies in

.................. Of the circle.

Watch Video Solution

41. The longest chord of a circle is a ........... of

the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_CyLG51jMMmJQ
https://dl.doubtnut.com/l/_c8K4Th2L2OJ1
https://dl.doubtnut.com/l/_Eq1r537X864L
https://dl.doubtnut.com/l/_fpOZRyCtTin3


42. An arc is a ........... When its ends are the

ends of a diameter.

Watch Video Solution

43. Segment of a circle is the region between

an arc and ........... of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_fpOZRyCtTin3
https://dl.doubtnut.com/l/_skitm2fRRaNG


44. Fill in the Blanks: 

A circle divides the plane, on which it lies, in

______ parts.

Watch Video Solution

45. (True/ False) Line segment joining the

centre to any point on the circle is a radius of

the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_3MKZ0jFZGGWq
https://dl.doubtnut.com/l/_GDtYD5Id1iSP
https://dl.doubtnut.com/l/_GIdEf5APTXZd


46. (True/ False) A circle has only finite number

of equal chords.

Watch Video Solution

47. (True/ False) If a circle is divided into three

equal arcs each is a major arc.

Watch Video Solution

https://dl.doubtnut.com/l/_GIdEf5APTXZd
https://dl.doubtnut.com/l/_3FFtUqut86kn


48. (True/ False) A chord, which is twice as long

as its radius is a diameter of the circle.

Watch Video Solution

49. (True/ False) Sector is the region between

the chord and its corresponding arc.

Watch Video Solution

50. (True/ False) A circle is a plane figure.

https://dl.doubtnut.com/l/_CnqsDzwA7tzr
https://dl.doubtnut.com/l/_MsFls0PegyKz
https://dl.doubtnut.com/l/_SUkWNPNZ9fYm


Watch Video Solution

51. Name the region between a chord and

either of the arcs.

Watch Video Solution

52. If diagonals of a cyclic quadrilateral are

diameters of the circle through the vertices of

the quadrilateral, prove that it is a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_SUkWNPNZ9fYm
https://dl.doubtnut.com/l/_fvp2ATYC6GT4
https://dl.doubtnut.com/l/_FcZ99DvUqHi3


53. Given three non-collinear points. How many

circles can be drawn through these three

points?

Watch Video Solution

54. In a triangle with one angle  the

lengths of the sides form an A.P. If the length

of the greatest side is 7 cm, the radius of the

circumcircle of the triangle is

Watch Video Solution

,
2π

3

https://dl.doubtnut.com/l/_FcZ99DvUqHi3
https://dl.doubtnut.com/l/_8Rl3Ejs5grZc
https://dl.doubtnut.com/l/_rUNQXf084xIY


55. In a circle C(O,r), AOB and COD are two

diameters perpendicular to each other. Find

length of chord AC.

Watch Video Solution

56. Two congruent circles with centres C and

O' intersect at A and B. If , then

find 

Watch Video Solution

∠AO' B = 50∘

∠ACB

https://dl.doubtnut.com/l/_rUNQXf084xIY
https://dl.doubtnut.com/l/_Lb3TOE4YpsTE
https://dl.doubtnut.com/l/_BRdraZhDnpAM


57. True/False: 

The degree measure of a semi-circle is 

Watch Video Solution

180∘

58. (True/ False) A circle has only finite number

of equal chords.

Watch Video Solution

https://dl.doubtnut.com/l/_BRdraZhDnpAM
https://dl.doubtnut.com/l/_wy8ynpAESo0w
https://dl.doubtnut.com/l/_cjkk6D9ELmtO


59. True/False: 

The perimeter of circle is called its

circumference .

Watch Video Solution

60. True/False: 

A circle divides the plane into three parts.

Watch Video Solution

https://dl.doubtnut.com/l/_vAP3ICfikA1Q
https://dl.doubtnut.com/l/_barNXQmxVN0F


61. True/False: 

Let O be the centre of a circle with radius r.

Then a point P such that OP < r is called an

interior point of the circle.

Watch Video Solution

62. True/False: 

An equilateral triangle ABC is inscribed in a

circle with centre O. The measure of  is ∠BOC

60∘

https://dl.doubtnut.com/l/_KT3lr4EOWenB
https://dl.doubtnut.com/l/_2stYzD9sm3zF


Watch Video Solution

63. The perpendicular from the centre of a

circle to a chord bisects the chord.

Watch Video Solution

64. In a circle C(O,r), AOB and COD are two

diameters perpendicular to each other. Find

length of chord AC.

Watch Video Solution

https://dl.doubtnut.com/l/_2stYzD9sm3zF
https://dl.doubtnut.com/l/_sW8em0gUYmUE
https://dl.doubtnut.com/l/_X8QwG7ct8oP1


65. True/False: 

The degree measure of a semi-circle is 

Watch Video Solution

180∘

66. Two circles of radii 5 cm and 3 cm intersect

at two points and the distance between their

centres is 4 cm. Find the length of the

common chord.

Watch Video Solution

https://dl.doubtnut.com/l/_m8goMmGHTsr3
https://dl.doubtnut.com/l/_GLJbUhVTrxIl
https://dl.doubtnut.com/l/_S4MUmcIeWvrb


67. Fill in the Blanks: 

Angles in the same segment of a circle are

________

Watch Video Solution

68. Fill in the Blanks: 

Equal arcs of a circle subtend_____ angles at

the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_S4MUmcIeWvrb
https://dl.doubtnut.com/l/_FMPJqswKJTwE
https://dl.doubtnut.com/l/_LhbRk0A6jM95


69. Fill in the Blanks: 

Angles subtended by an arc at the centre of a

circle is _______ the angle subtended by the

same arc at any other point on the remaining

part of the circle.

Watch Video Solution

70. Fill in the Blanks: 

Equal chords of a cirlce (or congruent circles)

are _______ from the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_LhbRk0A6jM95
https://dl.doubtnut.com/l/_4xWAcRY21Mmi


71. Fill in the Blanks: 

The line drawn through the centre of a circle

to ______ a chord is perpendicular to the chord.

Watch Video Solution

72. Fill in the Blanks: 

Chords _____ from the centre of a circle are

equal in length.

Watch Video Solution

https://dl.doubtnut.com/l/_4xWAcRY21Mmi
https://dl.doubtnut.com/l/_OEk8eM7lYbuH
https://dl.doubtnut.com/l/_GEzEOmapkkda


73. Fill in the Blanks: 

The perpendicular from the centre of a circle

to a chord _____ the chord.

Watch Video Solution

74. Fill in the Blanks: 

The sum of either pair of opposite angles of a

______ quadriateral is 

Watch Video Solution

180∘

https://dl.doubtnut.com/l/_QYL8dMUtLzH3
https://dl.doubtnut.com/l/_7g57IXhwPjqX
https://dl.doubtnut.com/l/_jpQVtEDas41P


75. The longest chord of a circle is a ........... of

the circle.

Watch Video Solution

76. An arc is a ........... When its ends are the ends

of a diameter.

Watch Video Solution

https://dl.doubtnut.com/l/_jpQVtEDas41P
https://dl.doubtnut.com/l/_qQwhGguUgG1K


77. A chord is at a distance of 8 cm from the

centre of a circle of radis 17 cm. The length of

the chord is

A. 25 cm

B. 30 cm

C. 12.5 cm

D. 9 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0OgbpIkFkuRM


78. An equilateral triangle of side 9 cm.

A. 3 cm

B. 

C. 

D. 6 cm

Answer:

Watch Video Solution

3√3cm

3√2cm

https://dl.doubtnut.com/l/_XYevRMctK4jj


79. Is every diameter of a circle also a chord?

A. 17 cm

B. 15 cm

C. 4 cm

D. 8 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SNcCj2aMIcLy


80. If OA = 5 cm , AB = 8 cm and OD is

perpendicular to AB, then OD is equal to

A. 2 cm

B. 3 cm

C. 4 cm

D. 5 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_B9TabG36GNRd
https://dl.doubtnut.com/l/_KaqTVtShBCl9


81. (True/ False) If AOB is a diameter of a circle

and C is a point on the circle, then

.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

AC 2 + BC 2 − AB2

30∘

60∘

90∘

45∘

https://dl.doubtnut.com/l/_KaqTVtShBCl9
https://dl.doubtnut.com/l/_8mIJOm9ag02B


82. ABCd is a cyclic quadrialteral such that AB

is a diameter of the circle circumscribing it

and  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠ADC = 140∘ , then∠BAC

80∘

50∘

40∘

30∘

https://dl.doubtnut.com/l/_8mIJOm9ag02B


83. Prove that the circle drawn with any side of

a rhombus as diameter, passes through the

point of intersection of its diagonals.

Watch Video Solution

https://dl.doubtnut.com/l/_NLVWRa5Cd6bV


84. If m find  


Watch Video Solution

∠ABC = 20∘ ∠AOC

https://dl.doubtnut.com/l/_VQ75SGC2iM83


85.  find 

Watch Video Solution

∠DAB = 60∘ , ∠ABD = 50∘ ∠ACB

86. If arc AXB and CYD of a circle are

congruent, find the ratio of AB and CD

Watch Video Solution

https://dl.doubtnut.com/l/_JxgZZvKT33sm
https://dl.doubtnut.com/l/_6idnmF9FJBQS


87. Two triangles ABC and PQR are such that

the perpendiculars from A to QR ,B to RP and C

to PQ are concurrent .Show that the

perpendicular from P to BC ,Q to CA and R to

AB are also concurrent .

Watch Video Solution

88. If a diameter of a cirlce bisects each of the

chords of the circle, prove that the chordds

are parallel.

https://dl.doubtnut.com/l/_ckwaXREFrYhU
https://dl.doubtnut.com/l/_xf9Ei8772phV


Watch Video Solution

89. The whole angle at the centre of a circle is :

Watch Video Solution

90. In a triangle ABC, D is the mid point of the

side AC and . Show that 

is a right angle.

Watch Video Solution

BD = AC
1

2
∠ABC

https://dl.doubtnut.com/l/_xf9Ei8772phV
https://dl.doubtnut.com/l/_1qCwLRhWVAKF
https://dl.doubtnut.com/l/_0XAxPrC8F6Wq
https://dl.doubtnut.com/l/_DOPOjwbvDQ5b


91. On a common hypotenuse AB, two right

triangles ACB and ADB are situated on

opposite 

Watch Video Solution

∠BAC = ∠BDC

92. If the non-parallel sides of a trapezium are

equal, prove that it is cyclic.

Watch Video Solution

https://dl.doubtnut.com/l/_DOPOjwbvDQ5b
https://dl.doubtnut.com/l/_bFAFxhsTDUR6


93. In fig, two chords AB and CD intersect each

other at the point P. Prove that: 

(i)  


(ii) AP.PB= CP.DP 

Watch Video Solution

△ APC~ △ DPB

94. Draw a circle of radius 5 cm and divide it

into 6 equal sectors .

Watch Video Solution

https://dl.doubtnut.com/l/_Vg5VMBtXPwV2
https://dl.doubtnut.com/l/_4HZalQH4AVJP


https://dl.doubtnut.com/l/_4HZalQH4AVJP

